## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F STREET REHABILITATION PROJECT - COPPERFIELD DRIVE AREA PROJECT NO. ST09-1798 / CIP NO. 50549 SEPTEMBER 11, 2009

ORIGINAL CONTRACT AMOUNT: \$176,797.00 CONTRACTOR: SIMON CONTRACTORS OF SD, INC.

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	Mobilization	LS	1.00	\$2,000.00	\$2,000.00	1.00	\$2,000.00	\$0.00
2	Asphalt Milling	SYD	10,350.00	\$1.70	\$17,595.00	9,946.00	\$16,908.20	(\$686.80)
3	Remove Sidewalk	SF	60.00	\$2.75	\$165.00	60.00	\$165.00	\$0.00
4	Remove and Replace Curb & Gutter	LF	150.00	\$33.00	\$4,950.00	192.00	\$6,336.00	\$1,386.00
5	Type E Inlet Throat Repair	LS	1.00	\$990.00	\$990.00	1.00	\$990,00	\$0.00
6	Spall Repair	SF	4.00	\$44.00	\$176.00	4.00	\$176.00	\$0.00
7	Remove and Replace Pan	SF	144.00	\$9.00	\$1,296.00	144.00	\$1,296.00	\$0.00
8	Remove and Replace Sidewalk	SF	300.00	\$8.00	\$2,400.00	190.80	\$1,526.40	(\$873.60)
9	Remove & Replace Fillet	SF	50.00	\$12.00	\$600.00	50.00	\$600.00	\$0.00
10	Landscape Rock	TON	3.00	\$45.00	\$135.00	4,00	\$180.00	\$45.00
11	3/4" Base Course	TON	20.00	\$29.00	\$580.00	12.20	\$353.80	(\$226.20)
12	Detectible Warning Panel	SF	88.00	\$30.00	\$2,640.00	80.00	\$2,400.00	(\$240.00)
13	Full Depth Repair	SYD	160.00	\$49.00	\$7,840.00	151.70	\$7,433.30	(\$406.70)
14	Mill Patch	\$YD	125.00	\$38.00	\$4,750.00	92.00	\$3,496.00	(\$1,254.00)
15	Digouts	CYD	25.00	\$24.00	\$600.00	0.00	\$0.00	(\$600.00)
16	Sugar Rock	TON	50.00	\$34.00	\$1,700.00	0.00	\$0.00	(\$1,700.00)
17	Crack Repair	LF	440.00	\$7.00	\$3,080.00	413.00	\$2,891.00	(\$189.00)
18	12" Petrotac 4591	LF	100.00	\$2.70	\$270.00	240.00	\$648.00	\$378.00
19	Asphalt Surface Treatment - AE150S	TON	20.00	\$990.00	\$19,800.00	23.50	\$23,265.00	\$3,465.00
20	Cover Aggregate - Type 2A	TON	195.00	\$69.00	\$13,455.00	194.40	\$13,413.60	(\$41.40)
21	Asphalt for Fog Seal - CSS1H/SS1H	TON	3.50	\$1,450.00	\$5,075.00	4.80	\$6,960.00	\$1,885.00
22	Asphalt Leveling Course	TON	40.00	\$115.00	\$4,600.00	3.00	\$345,00	(\$4,255.00)
23	Asphalt Overlay PG64-28	TON	920.00	\$85.00	\$78,200.00	1,017.00	\$86,445.00	\$8,245.00
24	Incidental	LS	1.00	\$1,500.00	\$1,500.00	1.00	\$1,500.00	\$0.00
25	Erosion Control	LS	1.00	\$700.00	\$700.00	1.00	\$700.00	\$0.00
26	Traffic Control	LS	1.00	\$1,700.00	\$1,700.00	1.00		\$0.00
TOTAL				\$176,797.00		\$181,728.30	\$4,931.30	

C.C.O. HISTORY INCREASE/(DECREASE	)	PRIOR ADJUSTED CONTRACT PRICE :	\$176,797.00
CCO #1F	\$4,931.30	NET INCREASE/(DECREASE):	\$4,931.30
		ADJUSTED CONTRACT PRICE:	\$181,728.30
		CHANGE TO DATE:	\$4,931.30
1405el 0	CODY SCHEEL	10/6	<u>/09</u>
CONTRACTOR: Simon Contractors of SD,	inc., PO Box 397, Rapid City, S	SD 57709-0397 342-3734	DATE
		19	// / / / /
Kay Chiped	)	[/k	709
PROJECT MANAGER: KLARE SCHROED	ER	7	DATE
Charles Mills	4	4.	
ATOU MIN	7	10-6	2-17
CITY ENGINEER: DALE TECH			DATE
MAYOR: ALAN HANKS			DATE
WATON: ALANTIMINO			
FINANCE: JAMES PRESTON			DATE
I INCINCE. SAMESTINESTON			–
CONTRACT TIME CHANGE +/-: 0	NEW CONTRACT TIME:	Days	

City Staff recommends approval of this Change Order #1F to Simon Contractors of SD, Inc. for an increase of \$4,931.30 based on unit pricing with the following appropriation:

\$176,797.00	\$0.00	\$0.00	\$0.00	\$176,797.00
Streets				
8910				
4370				
0505				
\$4,931.30				\$4,931.30
\$181,728.30	\$0.00	\$0.00	\$0.00	\$181,728.30
	Streets 8910 4370 0505 \$4,931.30	Streets 8910 4370 0505 \$4,931.30	Streets 8910 4370 0505 \$4,931.30	Streets  8910  4370  0505  \$4,931.30

## CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER #1F STREET REHABILITATION PROJECT - COPPERFIELD DRIVE AREA

## PROJECT NO. ST09-1798 / CIP NO. 50549 SEPTEMBER 11, 2009

ORIGINAL CONTRACT AMOUNT: \$176,797.00 CONTRACTOR: SIMON CONTRACTORS OF SD, INC.

ITEM	DESCRIPTION	REASON FOR CHANGE
2	Asphalt Milling	Actual quantity used to complete the project in accordance with plans and specifications.
4	Remove and Replace Curb & Gutter	More curb and gutter required removal and replacement than estimated by designer.
8	Remove and Replace Sidewalk	Less sidewalk required removal and replacement than estimated by designer.
10	Landscape Rock	Actual quantity used to complete the project in accordance with plans and specifications.
11	3/4" Base Course	Actual quantity used to complete the project in accordance with plans and specifications.
12	Detectible Warning Panel	Actual quantity used to complete the project in accordance with plans and specifications.
13	Full Depth Repair	Actual quantity used to complete the project in accordance with plans and specifications.
14	Mill Patch	Actual quantity used to complete the project in accordance with plans and specifications.
15	Digouts	None needed.
16	Sugar Rock	None needed.
17	Crack Repair	Actual quantity used to complete the project in accordance with plans and specifications.
18	12" Petrotac 4591	Actual quantity used to complete the project in accordance with plans and specifications.
19	Asphalt Surface Treatment - AE150S	Actual quantity used to complete the project in accordance with plans and specifications.
20	Cover Aggregate - Type 2A	Actual quantity used to complete the project in accordance with plans and specifications.
21	Asphalt for Fog Seal - CSS1H/SS1H	Actual quantity used to complete the project in accordance with plans and specifications.
22	Asphalt Leveling Course	Actual quantity used to complete the project in accordance with plans and specifications.
23	Asphalt Overlay PG64-28	Actual quantity used to complete the project in accordance with plans and specifications.

PREPARED BY: Klare Schroeder, P.E.

	FUNDING TYPE	Streets 8910 4370 0505	
•	COST CENTER		
	LINE ITEM		
	FUND		
ITEM NO.	DESCRIPTION OF ITEM	AMOUNT	PERCENT
1	Mobilization	0.00	100%
2	Asphalt Milling	-686.80	- 100%
3	Remove Sidewalk	0.00	100%
4	Remove and Replace Curb & Gutter	1,386.00	100%
5	Type E Inlet Throat Repair	0.00	100%
6	Spall Repair	0.00	100%
7	Remove and Replace Pan	0.00	100%
8	Remove and Replace Sidewalk	-873.60	100%
9	Remove & Replace Fillet	0.00	100%
10 <sup>-</sup>	Landscape Rock	45.00	100%
11	3/4" Base Course	-226.20	100%
12	Detectible Warning Panel	-240.00	100%
13	Full Depth Repair	<b>-</b> 406.70	100%
14	Mili Patch	-1,254.00	100%
15	Digouts	-600.00	100%
16	Sugar Rock	-1,700.00	100%
17	Crack Repair	-189.00	100%
18	12" Petrotac 4591	378.00	100%
19	Asphalt Surface Treatment - AE150S	3,465.00	100%
20	Cover Aggregate - Type 2A	<del>-</del> 41.40	100%
21	Asphalt for Fog Seal - CSS1H/SS1H	1,885.00	100%
22	Asphalt Leveling Course	-4,255.00	100%
23	Asphalt Overlay PG64-28	8,245.00	100%
24	Incidental	0.00	100%
25	Erosion Control	0.00	
26	Traffic Control	0.00	100%
		(\$902.30)	